[image: image1.jpg]Adenosine triphosphate, more commonly referred to as ATP, is the only usable form of energy in the body.
The energy we derive from the foods that we eat, such as carbohydrates, has to be converted into ATP
before the potential energy can be used. ATP consists of one molecule of adenosine and three phosphates:
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Energy is released from ATP by breaking down the bonds that hold this compound together.
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Enzymes are used to break down compounds. In this instance, ATPase is the enzyme used to break
down ATP into ADP + P.
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The type of reaction that occurs here is an exothermic reaction. This is because energy is released. A
reaction that needs energy to work is called an endothermic reaction. Rebuilding or resynthesising ATP
from ADP + P is an endothermic reaction.
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